

### BID PRICE SHEET MANUFACTURER - BLAUER

rieuse note. The award of	GOLD NUGGET UNIFORM, LOU'S POLICE									
						-				
		-			ba ARGO			DISTRIBUT	OF	
Item #1- Description Section: MEN'S – SHIRT – LONG SLEEVE (LS)	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price
BLAUER (LS) ZIPPERED POLYESTER SHIRT: STYLE # 8600-Z – DARK NAVY OR WHITE	Finishing Requirements Embroidered and Sew of Sew Embroidered Patch Sew Embroidered Hash Tailoring, Embroidering are to be inclusive in th	on Name Tapes, n on Both Sleeves, mark(s) on Left g, and Alterations								
Standard Size (14 -18.5)	100	EACH	\$	50.63	\$	5,063.00	\$	42.90	\$	4,290.00
Item #2 - Description Section: MEN'S - SHIRT - LONG SLEEVE (LS):	Estimated Yearly Quantity	Unite of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price
BLAUER (LS) ZIPPERED POLYESTER SHIRT: STYLE # 8670-Z MEDIUM BLUE.										
Standard Size (14-18.5)	15	EACH	\$	59.17	\$	887.55	\$	50.80	\$	762.00
Item #3 - Description Section: MEN'S - SHIRT - SHORT SLEEVE (SS)	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price
BLAUER (SS) ZIPPERED POLYESTER SHIRT: STYLE # 8610-Z – DARK NAVY OR WHITE	Finishing Requirements Embroidered and Sew of Sew Embroidered Patch Tailoring, Embroidering are to be inclusive in th	on Name Tapes, n on Both Sleeves g, and Alterations								
Standard Size (14-18.5)	300	EACH	\$	46.69	\$	14,007.00	\$	39.18	\$	11,754.00
Item #4 - Description Section: MEN'S - SHIRT - SHORT SLEEVE (SS)	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price
BLAUER (SS) ZIPPERED POLYESTER SUPERSHIRT: STYLE # 8675 - MEDIUM BLUE.	Finishing Requirement: Embroidered and Sew of Sew Embroidered Patch Tailoring, Embroidering are to be inclusive in the	on Name Tapes, n on Both Sleeves. g, and Alterations								
Standard Size (14-18.5)	40	EACH	\$	55.23	\$	2,209.20	\$	47.18	\$	1,887.20
Item #5 - Description Section: MEN'S - UNIFORM TROUSER	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price
BLAUER 4 - PKT POLYESTER TROUSERS: STYLE # 8650 - DARK NAVY.	Finishing Requirement: Honor Guard Members Gold Stripe. Tailoring, Embroidering	only: Additional								
Standard Sira (20, 42)	are to be inclusive in th		_	44.70	,	13 440 00	÷	FC 00	Ļ	17.004.00
Standard Size (28-42)	300	EACH	\$	44.70	٩	13,410.00	٩	56.98	\$	17,094.00



### BID PRICE SHEET MANUFACTURER - BLAUER

Please note: The award of contract will only be made to one				<u>'                                    </u>							
			GOLD NUGGET UNIFORM, INC. dba ARGO				LOU'S POLICE DISTRIBUTORS, INC.				
				INC. di	oa <i>I</i>	ARGO		DISTRIBUT	OKS, INC.		
Item #6 - Description Section: MEN'S - UNIFORM TROUSER	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price	
BLAUER 6-PKT POLYESTER	Tailoring, Embroidering	g, and Alterations									
TROUSERS: STYLE # 8657 - DARK	are to be inclusive in th	e unit price.									
NAVY.											
Standard Size (28-42)	300	EACH	\$	55.87	\$	16,761.00	\$	48.00	\$	14,400.00	
Item #7 - Description Section: POLICE POLO – SHORT SLEEVE (SS)	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price	
BLAUER SS POLYESTER ARMORSKIN BASE SHIRT: STYLE # 8372 - DARK NAVY, WHITE, BLACK, OR MEDIUM BLUE	Finishing Requirements Embroidered Badge on Name (First Initial, Last Patch Sewn on Each Sle Rank Insignia on Each C Tailoring, Embroidering are to be inclusive in th	Shirt, Embroidered t Name), HBPD eeve, Embroidered Collar. g, and Alterations									
Standard Size (XS - 2XL)	375	EACH	\$	56.80	\$	21,300.00	\$	48.98	\$	18,367.50	
Item #8 - Description Section: POLICE POLO – LONG SLEEVE (LS)	Estimated Yearly Quantity	UOM		Unit Price		Total Price		Unit Price		Total Price	
BLAUER (LS) POLYESTER ARMORSKIN BASE SHIRT: STYLE # 8371 - DARK NAVY, WHITE, BLACK, OR MEDIUM BLUE	Name (First Initial Last Name) HPRD										
Standard Size (XS - 2XL)	120	EACH	\$	60.42	\$	7,250.40	\$	51.96	\$	6,235.20	
Item #9 - Description Section: BIKE PATROL POLO	Estimated Yearly Quantity	UOM		Unit Price		Total Price		Unit Price		Total Price	
BLAUER COLORBLOCK PERFORMANCE POLO: STYLE #8133 – DARK NAVY WITH ROYAL BLUE.	Finishing Requirements Embroidered Badge on Name (First Initial, Last Patch Sewn on Each Sle Rank Insignia on Each C Reflective "POLICE" Sill Tailoring, Embroidering	Shirt, Embroidered t Name), HBPD eeve, Embroidered Collar, and k Screen on back.									
	are to be inclusive in th	ne unit price.									
Standard Size (XS - 2XL)	40	EACH	\$	90.74	\$	3,629.60	\$	78.98	\$	3,159.20	
Item #10 - Description Section:	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price		Total Price		Unit Price		Total Price	
BIKE PATROL SHORTS	Quantity										
BLAUER FLEXFORCE BIKE SHORTS:	Tailoring, Embroidering										



### BID PRICE SHEET MANUFACTURER - BLAUER

rieuse note. The awara of	ne (1) Firm that carries both brands Blauer and 5.11.										
				GOLD NUGGET UNIFORM,				LOU'S POLICE			
				INC. di	ba <i>i</i>	ARGO		DISTRIBUT	ΙΟ	RS, INC.	
Item #11 - Description Section:	Estimated Yearly	UOM		Unit Price		Total Price		Unit Price		Total Price	
PATROL WINTER JACKET	Quantity										
BLAUER LIGHTWEIGHT SOFTSHELL	<b>Finishing Requirement</b>	s must include:									
FLEECE JACKET: STYLE # 4665 -	Embroidered Badge on	Jacket,									
DARK NAVY.	Embroidered Name (Fir	st Initial, Last									
	Name), HBPD Patch Se	wn on Fach Sleeve									
	of Jacket, Reflective "P										
	on back.										
	Tailoring, Embroidering	g, and Alterations									
	are to be inclusive in th	e unit price.									
Standard Size (XS - 2XL)	100	EACH	\$	100.91	\$	10,091.00	\$	86.98	\$	8,698.00	
Item #12 - Description Section:	Estimated Yearly	UOM		Unit Price		Total Price		Unit Price		Total Price	
WOMEN'S - SHIRT - LONG SLEEVE	Quantity										
(LS)											
BLAUER (LS) ZIPPERED POLYESTER	Finishing Requirements	must include:									
SHIRT (WOMEN'S): STYLE # 8600W-	Embroidered and Sew o	on Name Tapes,									
Z - DARK NAVY OR WHITE	Sew Embroidered Patch	n on Both Sleeves,									
	Sew Embroidered Hash	mark(s) on Left									
	Sleeve.										
	Tailoring, Embroidering	. and Alterations									
	are to be inclusive in th										
Standard Size (30-46)	20	EACH	\$	50.63	\$	1,012.60	\$	42.90	\$	858.00	
Item #13 - Description Section:	Estimated Yearly	UOM		Unit Price		Total Price		Unit Price		Total Price	
WOMEN'S - SHIRT - LONG SLEEVE	Quantity										
(LS)	Quantity .										
BLAUER (LS) POLYESTER	Finishing Requirements	must include:									
SUPERSHIRT (WOMEN'S): STYLE #	Embroidered and Sew of										
8670W - MEDIUM BLUE		тапис тарос,									
derett mediem beer	•										
Sew Embroidered Hashmark(s) on Left											
	Sew Embroidered Hash	•									
	Sew Embroidered Hash Sleeve.	mark(s) on Left									
	Sew Embroidered Hash Sleeve. Tailoring, Embroiderin	mark(s) on Left									
	Sew Embroidered Hash Sleeve.	mark(s) on Left									
Standard Size (30-46)	Sew Embroidered Hash Sleeve. Tailoring, Embroiderin	mark(s) on Left	\$	59.17	\$	591.70	\$	50.80	\$	508.00	
Standard Size (30-46) Item #14 - Description Section:	Sew Embroidered Hash Sleeve. Tailoring, Embroiderin are to be inclusive in th	mark(s) on Left g, and Alterations e unit price.	\$	59.17	\$	591.70	\$	50.80 Unit Price	\$	508.00 Total Price	
	Sew Embroidered Hash Sleeve. Tailoring, Embroiderin are to be inclusive in th 10 Estimated Yearly	mark(s) on Left g, and Alterations e unit price.	\$	59.17 Unit Price	\$	591.70 Total Price	\$		\$		
Item #14 - Description Section:	Sew Embroidered Hash Sleeve. Tailoring, Embroiderin are to be inclusive in th	mark(s) on Left g, and Alterations e unit price.  EACH	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity	g, and Alterations e unit price.  EACH  UOM	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS)	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements	g, and Alterations e unit price.  EACH  UOM  must include:	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS) BLAUER (SS) ZIPPERED POLYESTER	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements	g, and Alterations e unit price.  EACH  UOM  must include: on Name Tapes,	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS) BLAUER (SS) ZIPPERED POLYESTER SHIRT (WOMEN'S): STYLE # 8610W-	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements Embroidered and Sew of	g, and Alterations e unit price.  EACH  UOM  must include: on Name Tapes,	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS) BLAUER (SS) ZIPPERED POLYESTER SHIRT (WOMEN'S): STYLE # 8610W-	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements Embroidered and Sew of Sew Embroidered Patch	g, and Alterations e unit price.  EACH  UOM  must include: on Name Tapes, on Both Sleeves.	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS) BLAUER (SS) ZIPPERED POLYESTER SHIRT (WOMEN'S): STYLE # 8610W-	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements Embroidered and Sew of Sew Embroidered Patch Tailoring, Embroidering	g, and Alterations e unit price.  EACH  UOM  must include: on Name Tapes, on Both Sleeves. g, and Alterations	\$		\$		\$		\$		
Item #14 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS) BLAUER (SS) ZIPPERED POLYESTER SHIRT (WOMEN'S): STYLE # 8610W-	Sew Embroidered Hash Sleeve. Tailoring, Embroidering are to be inclusive in th  10  Estimated Yearly Quantity Finishing Requirements Embroidered and Sew of Sew Embroidered Patch	g, and Alterations e unit price.  EACH  UOM  must include: on Name Tapes, on Both Sleeves. g, and Alterations	\$	Unit Price	\$		\$				



### BID PRICE SHEET MANUFACTURER - BLAUER

Please note: The awara of	ne (1) Firm that carries both brands Blauer and 5.11.											
					GOLD NUGGET UNIFORM,				LOU'S POLICE			
				INC. dl	ba <i>l</i>	ARGO		DISTRIBUT	ΓΟΙ	RS, INC.		
Item #15 - Description Section: WOMEN'S - SHIRT - SHORT SLEEVE (SS)	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price		
BLAUER (SS) POLYESTER SUPERSHIRT (WOMEN'S): STYLE # 8675W - MEDIUM BLUE.	Finishing Requirements Embroidered and Sew of Sew Embroidered Patcl Tailoring, Embroidering are to be inclusive in the	on Name Tapes, n on Both Sleeves. g, and Alterations										
Standard Size (30 - 46)	40	EACH	\$	55.23	\$	2,209.20	\$	47.18	\$	1,887.20		
Item #16 - Description Section: WOMEN'S POLICE POLO – SHORT SLEEVE (SS)	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price		
BLAUER (SS) POLYESTER ARMORSKIN BASE SHIRT (WOMEN'S): STYLE # 8372W - DARK NAVY OR BLACK	Finishing Requirements Embroidered Badge on Name (First Initial, Last Patch Sewn on Each Sle Rank Insignia on Each C Tailoring, Embroidering are to be inclusive in th	Shirt, Embroidered Name), HBPD eeve, Embroidered collar. ,, and Alterations										
Standard Size (XS - 2XL)	100	EACH	\$	56.80	\$	5,680.00	\$	48.98	\$	4,898.00		
Item #17 - Description Section: WOMEN'S POLICE POLO – LONG SLEEVE (LS)	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price		
BLAUER (LS) POLYESTER ARMORSKIN BASE SHIRT (WOMEN'S): STYLE # 8371W - DARK NAVY OR BLACK	Finishing Requirements must include: Embroidered Badge on Shirt, Embroidered Name (First Initial, Last Name), HBPD Patch Sewn on Each Sleeve, Embroidered Rank Insignia on Each Collar.  Tailoring, Embroidering, and Alterations											
Standard Size (XS - 2XL)	are to be inclusive in th	EACH	\$	60.42	\$	3,021.00	\$	51.96	\$	2,598.00		
Item #18 - Description Section: WOMEN'S - UNIFORM TROUSER	Estimated Yearly Quantity	UOM		Unit Price	,	Total Price		Unit Price	•	Total Price		
BLAUER 4-PKT POLYESTER TROUSERS: STYLE # 8650W - DARK NAVY.	Finishing Requirements  Honor Guard only: Add  Tailoring, Embroidering  are to be inclusive in th	itional Gold Stripe.										
Standard Size (2 - 18)	80	EACH	\$	50.70	\$	4,056.00	\$	56.98	\$	4,558.40		
Item #19 - Description Section: WOMEN'S – UNIFORM TROUSER	Estimated Yearly Quantity	иом		Unit Price		Total Price		Unit Price		Total Price		
BLAUER 6-PKT POLYESTER TROUSERS: STYLE # 8657W - DARK NAVY.	Tailoring, Embroidering are to be inclusive in th											
Standard Size (2 - 18)	80	EACH	\$	55.87	\$	4,469.60	\$	48.00	\$	3,840.00		
		TOTAL BID F	RIC	CE ITEMS 1-19	\$	122,193.25			\$	111,328.30		



#### BID # FY 2017-2018-014

## CITY OF HALLANDALE BEACH POLICE DEPARTMENT UNIFORMS PURCHASES

#### **BID PRICE SHEET**

#### **MANUFACTURE - 5.11 INC.**

			G	GOLD NUGGE INC. dba	T UNIFORM, a ARGO			'S POLICE BUTORS, INC.		
Item #1 Description Section: UNIFORM TROUSER	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price	Total Unit Price	ι	Jnit Price	To	otal Unit Price	
5.11 APEX PANT W/FLEX-TAC: STYLE # 74434 KHAKI (055), BLACK (019), OR DARK NAVY (724)	Tailoring, Embroidering, and Alterations are to be inclusive in the unit price.									
Standard Size (28 - 44)	100	EACH	\$	72.87	\$ 7,287.00	\$	56.00	\$	5,600.00	
Item #2 Description Section: PATROL SHORTS	Estimated Yearly Quantity	Unit of Measure (UOM)		Unit Price	Total Unit Price	Ų	Jnit Price	To	otal Unit Price	
5.11 PATROL SHORTS: STYLE # 43057 - DARK NAVY, 9.5 INCH INSEAM and 11 INCH INSEAM.	Size/Finishing Requirements: 9.5 Inch Inseam and 11 Inch Inseam.  Tailoring, Embroidering, and Alterations are to be inclusive in the unit price.									
Standard Size (XS - 2XL)	100	EACH	\$	62.86	\$ 6,286.00	\$	48.98	\$	4,898.00	
TOTAL BID PRICE ITEMS 1-2				\$ 13,573.00			\$	10,498.00		

TOTAL BID PRICE FOR BLAUER ITEMS 1-19 AND 5.11 ITEMS 1-2.	\$135,766.25	\$ 121,826.30
---	--------------	---------------



#### BID PRICE SHEET MANUFACTURER – BLAUER

#### ADDITIONAL COST FOR NON - STANDARD SIZES

		UNIFOR	NUGGET RM, INC. dba ARGO	LOU'S POLICE DISTRIBUTORS, INC.				
Item No.	Description	Larger Than	Unit Price	Larger Than	Unit Price			
1	Uniform Shirts Long Sleeve (LS) larger than will be a cost of (State in Unit Price)	0	\$0.00	19	\$ 55.00			
2	Uniform Shirts Short Sleeve (SS) larger than will be a cost of (State in Unit Price)	0	\$0.00	19	\$ 50.00			
3	Uniform Police Polo Shirts Long Sleeve (LS) larger than will be a cost of (State in Unit Price)	0	\$0.00	ЗХ	\$ 66.00			
4	Uniform Police Polo Shirts Short Sleeve (SS) larger thanwill be a cost of (State in Unit Price)	0	\$0.00	ЗХ	\$ 62.00			
5	Uniform Bike Patrol Polos larger than will be a cost of (State in Unit Price)	0	\$0.00	ЗХ	\$ 99.00			
6	Uniform Trousers larger than will be a cost of (State in Unit Price)	0	\$0.00	44	\$ 47.00			
7	Uniform Bike Patrol Shorts larger than will be a cost of (State in Unit Price)	0	\$0.00	46	\$ 76.00			
8	Uniform Patrol Winter Jacket larger than will be a cost of (State in Unit Price)	0	\$0.00	3X	\$ 104.00			



#### BID # FY 2017-2018-014

### CITY OF HALLANDALE BEACH POLICE DEPARTMENT UNIFORMS PURCHASES

#### **BID PRICE SHEET**

#### MANUFACTURER – 5.11 INC.

#### **ADDITIONAL COST FOR NON-STANDARD SIZES**

		UNIFOR	NUGGET M, INC. dba RGO	LOU'S POLICE DISTRIBUTORS, INC.		
Item No.	Description	Larger Than	Unit Price	Larger Than	Unit Price	
1	Uniform Trousers larger than will be a cost of (State in Unit Price)	0	\$0.00	See Note #1.	\$0.00	
2	Uniform Patrol Shorts larger than will be a cost of (State in Unit Price)	0	\$0.00	See Note #2.	\$0.00	

#### LOU'S POLICE DISTRIBUTORS, INC.

Note #1. Firm stated on Price Sheet for Uniform Trousers " sizes go up to 44 only"

Note #2. Firm stated on Price Sheet for Uniform Patrol Shorts " sizes go up to 44 only"